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Paper I — Research Methodology

If the statement no philosopher are industrialists

is given as time which of the following statement

can be immediately inferred from it to be true

(A) No philosophers are rich persons

(B) All industrialist are philosophers

(C) Some philosophers are industrialist

(D) Some philosophers are not industrialist

Assertion A: Deductive arguments are either

invalid or valid.

Reason R: All detective arguments claim thatif the

premise are true then the conclusion must be true

(A) both AandR are correct and R is the correct
explanation of A

(B) both A and R are correct and R is not the
correct explanation of A

(C) Aiscorrect but R is not correct

(D) A isnot correct but R is correct

In the submission of thesis, if a student is found to

commit plagiarism of Level 3 as Per UGC

Regulations 2018 Plagiarism, the following

Penalty will be imposed-

(A) Student shall be debarred from submitting
the revised thesis for a Period of one year.

(B) Student’s registration for that programme
shall be cancelled.

(C) Student shall be debarred from submitting
the revised thesis for 6 Months.

(D) Students shall be asked to submit the
revised thesis within 6 months.

Identify the features of qualitative research, from

the following.

(i) Researcher becomes immersed in the
situation present or Past

(i) Researcher is detached from the Study to
avoid bias

(iii) It develops context-bound generalizations

(iv) Itis based on logical Positivist Philosophy

(v) Itused an emergent research design.
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Choose the Correct answer from the options
given below.

(A) (i), (ii) and (iii) only

(B) (i), (iii) and (iv) only

(©) (), (iii) and (v) only

(D) (iii), (iv) and (v) only

which among the following mothed is conducted
to describe the characteristics of a situation,
phenomenon, or a problem?

(A) Descriptive Research

(B) Historical Research,

(C) Experimental Research

(D) Qualitative Research

Simran while writing a research Paper, copies a
few lines from a source and interlays them in
her paper. Which of the following describes
Simran's Act?

(A) Auto Plagiarism

(B) Mosaic Plagiarism

(C) Complete Plagiarism

(D) Source -Based Plagiarism

Which of the following abbreviations used in
footnotes and endnotes means ‘the work cited'?
(A) et.al

(B) loc.cit.

(C) ibid

(D) op.cit

In a research study the variable which is not
directly observable but whose effect is inferred
on the dependent variable is termed as:

(A) Extraneous Variable

(B) Moderator variable

(C) Intervening Variable

(D) Treatment variable

A collage Principal conducts anethnographic probe
into the problem faced by tribal students. Which
method of sampling would be most appropriate?
(A) Random Sampling

(B) Cluster Sampling

(C) Stratified sampling

(D) Systematic Sampling
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15.

16.

Arrange the following group of terms in order to

decreasing intension

(i) Mammal

(i) Wildcat

(ii1) Feline

(iv) Animal

(v) Vertebrate

(A) (i), (iiD), (1), (v), (iv)

B) (@), (v), (1), (iii), (i1)

(©) (i), (1), (v), (1), (iv)

(D) @v), (1), (v), (1), (ii1)

Action Research means-

(A) A Longitudinal Research

(B) A search initiated to solve an immediate
problem.

(C) Webresearchusing socioeconomicobjective

(D) An Applied Research

Survey research studies

(A) Event

(C) Population

(B) Process

(D) Circumstances

Which among the following is a secondary
source of Data?

(A) Archival Date

(B) Participant’s Diary

(C) National sample survey organization Data
(D) Oral narratives

Which among the following is Scopus?

(A) Journal (B) Citation

(C) Database (D) Methodology

A good review of the research literature aims at:

(A) Subjective analysis of the content

(B) Providing information about the author and
their affiliation

(C) Generating research  question and
validating these questions

(D) Conduct multiple task-based screening

A suitable average for testing the intelligence of

students 1is:

(A) Geometric mean (B) Arithmetic mean

(C) Median (D) Mode
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18.

19.

20

21.

22.

23.

Which of the following in not a method of data
collection in social science research?

(B) Survey

(D) Interview

(A) Questionnaire
(C) Schedule
Which stage is research creates a working thesis
for the research paper by specifying and
organising the category of information?

(A) Research Design

(B) Developing a hypothesis

(C) Reivew of the literature

(D) Analysis of data

Theclassdifferencein the calculation of the Mode-
(A) should be equal

(B) should be unequal

(C) should be inclusive

(D) suitable all

. Which of the following provided the strongest

evidence of cause-and-effect relationship

between independent and dependent variables?

(A) Descriptive statistics

(B) co-relational approaches

(C) non-experimental approaches

(D) experimental approaches

Bibliography means-

(A) Footnotes

(B) Quotations

(C) Biography

(D) vit of referred books research paper, etc.

What is a research design?

(A) A way conducting research that is not
grounded in theory

(B) The choice between using qualitative or
quantitative methods

(C) The style in which you present your
research finding e.g. a graph

(D) A framework for every stage of the

collection and analysis of data

Which of the following can not be used for
checking similarly in a research document?

(A) Turnitin (B) Urkund

(C) Ithenticate (D) Zotero
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25.

26.

27.

28.

29.

30.

In the process of developing a research proposal,
which one of the following is required

(A) give the findings

(B) Plan of investigation

(C) Recommendation to the policy makes

(D) Seek experts’ opinion

A research paper evaluated by other experts
either for publication or presentation at a
conference is considered to have undergone:
(B) Public review

(D) Research review

(A) Peerreview
(C) Private review
Which of the following is a characteristic of a
well-defined research problem?

(A) Itis broad and vague

(B) It has a single solution

(C) Itis specific and clear

(D) It cannot be researched

What Is the purpose of standard deviation in
statistics?

(A) to measure the spread of data

(B) to identify the central frequency

(C) to calculate the mean

(D) to determine the mode

What s the purpose of code of ethics inresearch?
(A) to dictate specific research methods

(B) to establish the universal ethics standards
(C) to limit the scope of research questions
(D) to promote competition among researchers
Which fallacy is committed in the following
arguments?

“WhenIcalledyou, you wereneitherinyourclass
norin the laboratory. Why are you avoiding me?”
(A) circular arguments (B) red hearing

(C) complex question (D) slippery slope

If a large diamond is cut up into little bits, it will
lose its value just ad an array is divided up into
small units of soldiers, its losses its strength.”
The arguments put above may be called as-

(B) deductive

(D) causal

(A) analogical
(C) statistical
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32.

33.

34.

35.

Which of the following arguments is an example of 31.

the fallacy of a sadharna (Narrow middle term)
Accordingly to Nyaya (Classical Indian School
of logic)?

(A) Soundis non-eternal because it is produced
(B) Sound is eternal because it is audible

(C) Sound is eternal because it is produced
(D) Sound is quality because it is visible

Which one of the following is applicable in 32.

inductive logic in social research

(A) Theory, hypothesis, Pattern, Observation,
confirmation

(B) hypothesis, Observation, confirmation,
Theory

(C) Pattern, Observation, hypothesis,
confirmation, Theory

(D) Observation, Pattern, Tentative,
hypothesis, Theory

Identify the correct sequence of the following in 33,

a research paper-

(i) Research methodology
(i1) Title

(ii1) Literature review

(iv) Data Analysis

(v) Introduction

(A) (D), (D), (i), iv), (v)
(B) (D), (v), (i), (1), (iv)
(©) (), (iid), (iv), (v), ()
D) (v), (@), (iid), (iv), (ii)

A researcher has administered some during for 34.

management of diabetes for4 weeksinagroup and
measured pre and postdataforblood glucoselevel.
Which statistical tool will be used to analyse data?
(A) paired ‘t’ test

(B) independent ‘t’ test

(C) ANOVA test

(D) chi-square test

In order to begin research, one must: 35.

(A)
(B)
©
(D)

start with a number of clear goals

start with anumber of predefined objectives
have a well-defined research method

solve the research problem
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Paper II — Sanskrit
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afg sreell STgshwion-12345, WGTHA 101, T Yieaw HS-P. we gias dear9878s, ifa avi-
GEN T fdfm- MALE ® o aredi % =1 wehr & for@i < il 9§ <hrenr
If Candidates Roll No-12345, Course Code &101, Question Booklet Series-P. Question Booklet No-

98765, Caste Category-GEN and Gender-MALE then write in the box as indicated below darken the
ovals accordingly.

ROLL NUMBER COLLEGE QUESTION PAPER
CODE BOOKLET SERIES  CATCH
(2] [3] o] [1] [o] [1] [o] [o] [o] [2] [2] [1] [e] [¢]
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S sifera & ot fafy
Method for marking answer
et fafy Tord fafer
Correct Method ‘Wrond Method
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Please use only black ball point pen for making all entries in the Answer Sheet which includes darkening
of the ovals- Entries once made can not be changed- Replacement Answer Sheet will not be provided if
incorrect entry made by the candidate.

9 IR-G 1 Toey g wrrg feran s, o1 wuan gifvea o) of T wfafeat @@ oIk o ¥ v
7 M R fawen aifeq go & o 9

This Answer Sheet will be system processed. Hence please ensure that the entries are correct and complete,
falling which, the system will not capture the desired information.

FUA T HE Y T b ¥ Tet ST T Ue-gikashl gadess w9 §)

Please handover the OMR Sheet and Question Booklet to the invigilator before leaving the examination hall.
ITCTNF H A W 3 T & od | forelt W et S, o weiE, Aieee i o SEHe St
T 3R T W W SErT ST SR

Do not put any stray marks anywhere on the answer sheet. Use of any other paper, calculating machine,
mobile etc. is prohibited and will lead to disqualification.
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Failure to adhere to any instruction given above will render your answer sheet as invalid and it will not
be evaluated.
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